Decimal Binary Octal Hexadecimal ASCII

0 00000000 0 0 Null
1 00000001 1 1 SOH
2 00000010 2 2 STX
3 00000011 3 3 ETX
4 00000100 4 4 EOT
5 00000001 5 5 ENQ
6 00000110 6 6 ACK
7 00000111 7 7 BEL
8 00001000 10 8 BS
9 00001001 11 9 HT
10 00001010 12 A LF
11 00001011 13 B VT
12 00001100 14 C FF
13 00001101 15 D CR
14 00001110 16 E SO
15 00001111 17 F Sl
16 00010000 20 10 DLE
17 00010001 21 11 DC1
18 00010010 22 12 DDC2
19 00010011 23 13 DC3
20 00010100 24 14 DC4
21 00010101 25 15 NAK
22 00010110 26 16 SYN
23 00010111 27 17 ETB
24 00011000 30 18 CAN
25 00011001 31 19 EM
26 00011010 32 1A SUB
27 00011011 33 1B ESC
28 00011100 34 1C FS
29 00011101 35 1D GS
30 00011110 36 1E RS
31 00011111 37 1F US
32 00100000 40 20
64 01000000 100 40
128 10000000 200 80

255 11111111 377 FF
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) i Boolean Algebra
A AND B A*B D
Boolean Algebra & Digital Logic Gates
A OR B A+ B D
NOT A A >
I's and 0's True and False Hi and Lo

) Boolean Algebra N Boolean Algebra

A B A AND B A B A NAND B

0 0 0 0 0 1 AB AORB A B A NOR B A B A XOR B
00 0 00 1 00 0

01 0 0 1 1 01 1 01 0 01 1

10 0 10 1 10 1 10 0 10 1

11 1 1 1 0 11 1 11 0 11 0

) DeMorgan’s Theorem

AAND B = A OR B

A OR B = A AND B




Properties of a Boolean Algebra

1. Operations are commutative.
AeB = BeA
A+B =B+A

2. Operations are associative.
(AeB)eC = Ae(Be(C)
(A+B)+C = A+ (B+C)

3. Each operation isdistributive over the other.
Ae(B+C) = (AeB)+(AeC)
A+(BeC) = (A+B)e(A+C)

4. There exists an identity element for each operation.
+ldentity =0 A+0=A
oldentity =1 Ael=A

5. There exists acomplement for each element.
Complement of A = A
Complementof 1 = 0
Complementof 0 = 1

6. There exists an inverse for each operation.
Ae é =0
A+A =1

7. Each element isidempotent.
AeA = A
A+A = A

8. The absorption property holds for each element.
Ae(A+B) = A
A+(AeB) = A
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